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Print Test

PRINTABLE VERSION

Practice Test 1

You scored 100 out of 100

Question 1

Your answer is CORRECT.

d= \f(K; -x,)*+ (3&'31);

Give the distance from the point (-3, -1 ) to the point (-4, 6).

0o VE d= \J (= +3)*y (L4 -
d'—\' | +49 = J 5o

b @ 5V2
¢ O V51
g VA
e) O 72

f) =~ None of'the above.

Question 2

Your answer is CORRECT.

Solve for x :
a) x=-11
b) x=-3
¢c) ®x=3
d x="1Y
e) X=-6

= 572

11x—%[x—3]=33

h - N + 33 _
X =% = 33

E 3

L2 ~
1 % = 33
2 =
hx = 33
N h
Xx= 3
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f) =~ None ofthe above.

Question 3
Your answer is CORRECT.

Solve the following equation for x :

3+[l—2]=15

X
a) 1/10 34 * -2 = S
\
— 4 |=1\5
b) @ 4 X Voo
'i- N
) 1/12 \
| I¥x =)
d) /16 |
%= /)
e) 1/20

f)  None ofthe above.

Question 4
Your answer is CORRECT.

A rectangle's length is twice its width. If'the perimeter is 138 cm, find the width of the rectangle.

a)  21cm = 2w P=20+2w

b)  20cm 138 2(2w) +2w
¢) ®23cm 138:= 4w +2w

d)  26cm 138= bw

e)  22cm w= 23 tm

f) = None of'the above.

Question 5
Your answer is CORRECT.
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Solve for x :

x="p5, x=1

e)
f) = None of the above.

Question 6
Your answer is CORRECT.

Use the quadratic formula to solve the equation

Print Test

x(2x—50)=-2
3x? _ SX= -2

Bx’-Sx-g-z =D

(gx - ZSL* - l) =20
3x-2 =0 X-l=0o
3x=2 «< = |
¥ = 2‘/3
X==-blJer-thec
r iy

ek pm

v -3l arn®

3 1 3 1
=-— 4+ — /109 == — — . 109
p o 010710 50 T 10 } 205)
= - * ]

N e, %= -3 £ J 109

b) 10 10 10 10
\o

[=—i—l\flﬂ9,x——i+l\f1[]9] X= 23 + Jiog

) 5 5 5 5 1o —_—
‘/ i
R - W v
9 x=-3 ¢ fio9 T = -V
o o 19 o
3 1 3 1
=-—— — ./ 109 —_— 4+ — ./ 109
o ' 10 10 7770 T 10 }
f) =~ None of'the above.
Question 7
Your answer 1s CORRECT.
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Find the solutions ofthe equation

)

35<5x-5, -(x-T)<70
%)

-S 35S & Jo
a) (7,21) 35 ¢« Sx~ 2 x+ 5

b) = (-0, 7]U[2],00) 35 ¢ Sx 435 _ 30

[ E N
c) @ (7,21] 30 ¢« Sx+3S ¢ |40
d  [7,21] -35S -3S -3S
e) (-0,7)U[21,o) 38 ¢ Sx & 0SS

f) ~ None of'the above.

Question 8
Your answer is CORRECT.

Solve the following mequality and express the solution in interval notation.

\
) 0,81V, )y g gXTg &

by [89,00] *s vyg  tYg
¢) @[-87,89] -81 ¢ L, o 89

] T T 7
d) [-89,89]

e) [-87,87]

f)  None ofthe above.

Question 9
Your answer is CORRECT.

Solve for x.
LN
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a)  x= lx-ﬂ.:l Fr-2:=-l
9 9 |
b) @ x="5 x=2% Tx = 3 Ex < 2
) 8, 8 - < a <

8

) X=7 -
gx = 2% ¥x=1

d  x=S% x=5% _3- 8 8 3
e) x:27/8 X = E x=-l
g g

f) ~ None ofthe above.

Question 10
Your answer is CORRECT.

Given the following function, calculate f(-5).

fx)=(x—2) " +3

a)  -46 f-s)= (-s-2)"t3
b) 46 = (-3
¢) 530 = 4%9+3

d 052 = 5=

e) 6

f) ~ None of'the above.

Question 11
Your answer is CORRECT.

Given the following function, find f(x + 1).

RIS T — # Y

r A
Y . S Fa) = FIXH) = xH) +)

= F(xP42x4l) -x -1 |

2
= i ux+3 =X
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= Fx* L 3x +#
by @ 7% +13x+7 *

9O F+13x+7

d) 6x+ 9

e O TF—132+7

f) ~ None of the above.

Question 12
Your answer is CORRECT.

Find the domain of'the following finction and express the answer in mterval notation.

Sz} = zxx++22
a) (—oo,l)U(l,oo) &#D
b)  (-0,0) 2x+2 #o
) ®(-0,-1)U(-1,x) Zx £ -2

d) (-00,-2)U(—2,oo) % #-1 — L-”)‘I)UL")OO)

e) (-1,0)

f) = None of the above.

Question 13
Your answer is CORRECT.

Which of the following functions matches the graph below?
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9 O S =-(x+1)>+2
§ O F@=(z—1"+2

o) @ FH)=(x+1)"+2

f) = None of the above.

Question 14
Your answer is CORRECT.

Write the function

FlEier £hR 0
n the standard form

AR A=Y
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2 O f(x)=(x—3)+31

b) Fflx)=(x4+3

0 @ flx)=(x+3

)2 — 31

13

§ O FR=(x—3"-9

e) Fflx)=(x4+3

13

f) = None of'the above.

Question 15
Your answer 1s CORRECT.

Given f{x)=3x +8 and g(x)=x2+ llx. Find (fo 2)(5).

a) 232
b) 782
¢ 138
d) @248
e) 44

Print Test

r 3
fLO = xaex +(72) +22 - (¥e)
FUO= (x+3) +22-9

00 = Lx-&.!)1 +13

3LS)= 25 +585
= §0

Flgsd) = F(T9)

f) = None of'the above.

Question 16
Your answer is CORRECT.

= 3(p0)+ 8
S 240+8
= 24€

The function /" is given below. Suppose g is the inverse function of /. Find g(x).

l:f—l—ll

o Hd
fmy =1
;3= 1]

X -3
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e 1]
b) L

Tx4+ 11
@ ¥

g O ||
d) x
e) 0 Tx+11

f)  None ofthe above.

Question 17

Your answer is CORRECT.

Find the x-intercepts of
G yee

a)  {-7,3,6}

b @ (7,3, -6}

¢c) {-6,4,-6}

d {7,-3,6}

e) {-7,-3,6}

f) =~ None of'the above.

Question 18

Your answer is CORRECT.

Find the y-ntercept of
\Hn=0

a) @ -32

b) -8

Print Test

» X
y = X €\
b4
$700 Fx +1

P(x) = (x - T)(x - 3)%x + 6)*

*
L’--}sz:O L% -3) =o
x-%zo0 X-3:=0
X =3 W =3

P)=(x+Hx - Hx +2)

Plo) = 4 L-4)L2)
= 1)) -32
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¢) -16
d 32
e) 8§

f)  None ofthe above.

Question 19
Your answer i1s CORRECT.
Use long division to find the quotient and remainder of h p A’J
4 ! / in 1*""
ax +10x +x411
:J:E—x+2
2 8x
2) [o=8x R=18+" + 17x+ 11] 5 -—""'“4 3 R
Xfox‘-xfl\ TxT+tox + lox " +x 41
2
=8x+8 R=10x +x+ 11 3 [
2
o O l@=8xR=25—15x+11] I8x -1Sx +1I
[o=8x rR=18% ] Q: €
d @ O=8x,B=18x —15x+ 11 A

R - \8,{"-IS'X.+||
o O [0=8x r=182" —154]

f)  None ofthe above.

Question 20
Your answer is CORRECT.

Find the vertical asymptote(s) of the function:

Pir—42 = (RN b YWt #)
I—5 &-.‘)

= X+3

Jlx)=
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d x=0
e) ® There are no vertical asymptotes.

f) ~ None of'the above.

Question 21
Your answer 1s CORRECT.

Find the horizontal asymptote(s), if any, of the function: Rales - = b P
9
= he HA
Iw=— m>n
moen =D

) Cr=" m=0° m=n y =%

n=| b
b) y="/

mion —) Ij =0
¢) ry=-+4
d @r=0

e)  No horizontal asymptote.

f) ~ None of'the above.

Question 22
Your answer is CORRECT.

Solve the system for y.

dx+3y=-4
x—y=3
a) Jy=-5 ""3"5
b) ®y=23 UL3ry) +3y-= -9
O =5 \_ 12 44y + 39y = ~9
d y=3 ty:
y =3
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e) y=-1
f) =~ None of'the above.

Question 23
Your answer 1s CORRECT.

Find the linear function f{x) that satisfies f{(-7) = 6, and has a graph that is perpendicular to the line

~20x—4y=1
a)  JSlx)=3x+41 "fj: | +20.x
= -5x -1
Fx) == x+6 J N
b) g )
m=-S mL = s
S =+ 2
0@ 3'34 s, Lx- %)
1, 37 -~ o
ST AT b= = (x+#)
a fix) = x+ : Y SL
- Jd *
e)  JSlx)=-5x+4l 3 -3)‘ *‘5 +lb
- 33
f)  None of the above. 5 = 5 ®x + ._5
Question 24
Your answer 1s CORRECT.
Find f(-1) given
x4+ 6 xr= -1
Jfix) = = x=-1
—2x2+2x -1 <z
i 2
<%+b 3 -2xt+ 2x N
a) 5 -
by -2 f-)= -\

c) ®-1
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d -4
e) -5
Question 25

Your answer 1s CORRECT.

Simplify the following.
5 12
¥V X
a) x4+ 2
r+ 2
5 12
b) ® ry=
r+ 2
14 22
¢) LR
r—2
14 &
d) ¥
r—2
12 22
e) L 4

Print Test

2
o
5] L xr wa?
=2 3§ -
Xy
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